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1 2 3 4 5 6 7 9 10 il 12 13 14 15 16 17 18 19
Kam"sancbke 31 11 220 - - - TN32C31bn+0c+T3 76 0,70 1l 27 32 290 2e caHiTapHe Binmupanus 40 3r1AHO
Kam"sHebke 31 12 1.4 - - - 10C3+Bn+]13 71 0,55 1A 27 32 330 2¢ pyOaHtis Ta BCHXaHHS 38 Marepiaiis
Kam"sricbke 31 13 3,5 - - - 7C32)131bn 81 0.70 1 27 36 320 2e RUOIpKOBE fepes 45 JCBNOPSAKY BAHHS
Kam"ancbre 31 15 5.4 - - - 10C3+ 13 71 0,70 1A 28 32 440 2e Bl c 40 HE BUSIBSICHO
Kam"anebke 41 1 15,35 - - - 10Cs+]3+bu+ 3+ Knr 85 0.60 1A 30 40 410 2e Pl a 48 B
Kam"sHcbke 41 10 3,0 - - - 8C31bn1 I3 +13 91 0,70 1A 31 40 450 2e caHiTapHe : 45 -
Kam"sicbke 41 15 2,7 - - - 10C3+Bn+/13+13 76 0,40 1A 29 36 260 2e pybanus Biamupanus 40 -
Kam"ancoke 41 17 32 - - - 10C3+13+bn 91 0,65 1A 3] 40 460 2e subipkoBe TA BCHXAHHA 45 Bl
Kam"sHcbke 41 22 0,7 - - - 10C3+3+bn 91 0.60 1A 31 36 430 2e B aepes 35 -
Kam"siHcbke 42 3 0,5 - - - 10C3+ 13 86 0,60 1A 30 36 410 2e B “ 40 B
Kam"siHChKE 42 4 1.6 - - - 7C32bn 13+ Q3 91 0,70 ] 29 40 330 2e caHiTapHe * 42 B
Kam"sHcbke 42 9 5.0 - - - 10C3+b1+)13 87 0,60 1A 30 36 410 2e pybaHHs < 45 R
Kam"sincbke 42 10 4.7 - - - 9C31 lis+bn 76 0,65 1A 28 32 400 2e BUOIpKOBE - 45 -
Kam"sHebke 42 11 235 - - - 10C3+/13+ bn 86 0.60 1A 31 40 430 2e Pt - 45 -
Kam"sncbke 42 12 1.8 - - - 9C31bn+]13+173 91 0,65 1A 31 40 450 2e Ea) B 40 B
Kam"sihcbke 43 9 14 - - - 10C3+]3+bn+0c¢ 73 0,60 1A 28 32 360 2e B - 43 Bt
Kam"sHebke 44 ] 11.5 - - - 9C31 3+5n+13 65 0.7 1A 27 30 400 2e P P 42 -
Kam"sHchbke 72 29 0.7 - - - 7C33 13 64 0.8 1A 25 30 400 2e Eas Bt 40 B
Kam"suceke 75 1 19.0 - - - 9C31 3t bn 68 0.8 | 25 30 400 2e - Bl 45 R
Kam"sHcbke 75 3 2,1 - - - 10C3+bn+)13 65 0,75 1l 20 26 300 2e B B 42 P
Kam"ancbke 75 4 3.7 - - - 8C3(61)2C3(81) 61 0,80 1l 18 22 300 2e - “ 35 -
Kam"sincbke 84 6 1.0 - - - 10C3 84 0,70 1 26 32 400 2 Bt - 40 -
"L B e W e i - - 1 1> 1 -



1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
[HesyeHkiBCbKe 23 14 10,6 10C3 56 0,85 I 20 24 320 2e caHiTapHe BiamMupanHs 45 3riJIHO
IleBuenkiBcoke 24 1 8,9 10C3 46 0,75 I 17 20 240 2e pyGanHs Ta-BCHXaHHA 25 matepiaiis
[esuenkischke 24 20 1,8 10Ca 61 0,75 ! 20 24 300 2e BubipKoBe JepeB 35 JIICBIOPS AKYBaHHA
ScHoropoacske 16 34 0,8 10C3 48 0,70 i1 16 20 210 3e Bl =L 35 HE BUABJICHO
SlcHoropoackke 16 35 2.1 10C3k 49 0,70 1l 17 20 230 3e - Kopenesa ry6xa 30 -
SlcHOrQpoOAChKe 19 7 0,6 10C3 51 0,70 I 19 22 260 3e - Biamupansa 25 -
ScHoropoacbke 19 9 1.6 10Cxp 51 0,70 i 17 24 300 3e B T4 BCHXaHHA 32 B
SlcHoropoackke 19 10 0,5 10C3k 53 0,40 It 18 22 140 3e “ Kopenesa ry6ka 35 =
SlcHoropoachke 32 11 33 10C3 79 0,60 I 21 28 260 4e e Binmupanus 30 -
SleHoropoachke 34 15 6,3 7C32[031bn 71 0,70 I 23 28 250 3e - Ta BCHXaHHA 25 =
SlcHoropoacske 34 17 4.4 10C3 53 0,70 1 19 22 260 3e “ nepes 25 =
ScHoropoackke 35 15 34 8Cs3k1d31Bbn+Oc¢ 53 0,80 I 20 24 290 3e “a Koperesa ry6xa 30 S
SlcHoropoacske 35 16 83 10C3x 59 0,80 1 22 26 380 3e Kopenesa rybxa 35 -«
SlcHoropoackke 35 17 28 10C3k 55 0,80 il 18 22 280 3e caHiTapHe . 30 e
Schoropoacsie 35 20 0,5 10C3 76 0,8 i) 20 32 300 3e pybanHs Binmupanss 35 3rijiHo
SICHOrOpoAChKe 35 21 0.9 10C3 61 0,8 il 18 22 280 3e BHOIpkOBe | Ta BcuxaHHA 30 martepiaiis
Scnoroponceke 35 22 6.4 10C3 59 0,80 1 22 26 370 3e - ZepeB 35 JTICBNOPS AKYBaHHs!
SIcHoropozChKe 35 23 1,4 8C3(48)2C3(61) 48 0,7 11 16 20 220 3e e - 25 HE BUSIBIICHO
SlcHoropozckke 36 10 4,9 7C3(48)3C3(66)+bn 48 0,85 il 12 18 170 3e - = 30 -
ScHoropoaceke 36 12 28 10C3+bn 48 0,7 I 16 18 210 3e B - 25 =
ScHOropoackke 45 1 2.0 10C3 51 0,7 1 20 24 280 3e caHiTapHe e 30 =
SlcHoroponchbke 45 8 7,0 10C3 52 0,38 11 17 22 260 3e py6aHHs - 30 =
SlcHoropozachke 45 10 3.4 10C3 52 0,80 1 17 12 270 3e BUOIpKOBE “a 25 o
SlcHOrOpONCHKE 45 11 2,6 10C3 52 0,80 I 17 22 260 3 B e 25 <
Slchoropoaceke 45 13 1.2 10C3 52 0,80 i 17 22 270 3 P = 30 “u
SlcHoropoachkke 46 19 2.7 9C3k1C3 52 0,7 I 19 24 250 3e “ Kopenesa ry6xa 20 -
Scnoropoaceke 46 25 1,2 10C3+bn 52 0,8 I 19 24 300 3 - BiamMupauHs 30 B
Scuoropoacbke 46 26 0,9 10C3 61 0,7 I 22 26 320 3 “a Ta BCUXaHHA 35 e
SlcHoropoacske 47 16 18,4 10Cs3 51 0,85 I 17 22 260 2e caHiTapHe nepes 30 =
SlcHoropoacbke 50 4 4.7 10C3+bn 58 0,8 1 22 28 370 4e py6aunus = 25 -«
SIcHOTOpOACHKE 50 6 1,2 8C32/13+0c¢ 81 0,60 1A 29 44 370 4e BUOIpKOBE = 30 -
Slcnoroponcbke 50 7 1.6 10Cs3 63 0,70 1A 24 26 360 4e pyOaHHs - 25 -
SIcHOrOpOACHKe 50 9 0,6 10C3+/13+bn 61 0,70 1A 24 26 360 4e BHOIpKOBE B 30 B
SICHOTOpOACHKE 51 2 0,6 9C3k(501C3K(66)+bn 50 0,40 I 19 22 160 3e - Kopenesa ry6ka 25 -
SlcHOropoAchke 59 8 15,0 10C3 66 0,7 I 21 26 300 3e = BiaMupanus 20 =
SlcHOrOpOACEKE 59 11 1,8 10C3 48 0,80 I 16 24 230 3e ‘. Ta BCUXaHHS 25 =
SICHOrOpOACHKE 63 4 67.5 10C3+bn 44 0,80 1 17 22 240 3e = zepes 20 <
SlcHOropoAcske 63 5 0,5 10C3 60 0,80 III 16 22 230 3e = = 30 <
SleHoroponceke 63 8 4,1 8C3(63)2C3(63) 63 0,70 1 21 26 300 3e - = 30 o

PynusHceke 5 7 1,7 10C3+/13 51 0,7 1A 22 22 320 4e Ea) = 15 =
PyaHsaHCbKe 5 8 2,9 10C3 51 0,7 1A 22 22 320 4e = - 15 «
PynusiHcbke 20 14 8.8 10C3+bn 51 0,80 1A 21 22 370 4e - - 15 -
Pyausucbke 20 28 1,0 10C3 61 0,75 i 19 22 230 4e < = 15 <
PyxusHCbke 22 5 0.8 10C3 53 0,70 1 21 22 300 4e - = 15 =
PyanaHcbke 27 42 10C3+3+bn 54 0,85 1 21 22 370 4e - . 20 -
Pynusincbke 36 21 2.8 10C3 52 0,75 1A 21 20 320 4e = < 15 “a
PyaHsaucbke 36 31 32 10C3 52 0,75 1A 21 20 320 4e B =& 15 B
PyausiHChKE 37 30 1,1 10C3+bo+[3+13 61 0,70 IA 25 28 380 4e o K 15 -




1 2 3 4 8 9 10 11 12 13 14 15 16 17 18 19
PyaHsiHCBKE 37 31 0,8 10C3+bn+/13 52 0,70 1A 21 22 300 4e caHiTapHe | Biamupauus 20 “
PyaHsiHCbke 37 33 1,3 10C3+Bn+I"3 60 0,75 I 21 24 320 4e py6aHHs Ta BCUXaHHS 15 -
PynusiHCbKe 38 10 3,9 9C316n 46 0,85 1A 19 20 280 4e BUOIpKOBE nepes 15 =
PynusHchKe 39 2 10,0 10C3 52 0,80 1 20 20 340 4e pyGaHHs ‘e 15 -
PyaHsiHCbKe 40 5 5,6 10C3+/13+bn 53 0,75 1 20 20 300 4e - B 15 -
PynusHcbke 43 1 9,1 9C31bn 42 0,70 I 17 18 200 4e - - 15 -
Pyn#isHcbke 45 7 26 10C3+/I3+bn 46 0,70 1A 19 20 260 4e B B 20 =
PyaHsHcbke 45 13 3,7 9Cs1Ba+/13 86 0,70 I 27 32 390 4e caHiTapHe | Biamupanus 15 3riJIHO
PynusHchke 45 17 23 10C3+/3+bn 57 0,85 11 17 18 270 de py6aHHs Ta BCHXaHHSI 15 marepianis
PyansHcbke 46 3 24 8C31A31bn+Oc 76 0,65 1 25 30 310 4e BHOIpKOBE nepes 15 JTiCBNOPS IKY BaHHSI
PynusiHcbke 64 2 1,1 10C3+bn 76 0,60 [ 25 32 330 4e pybanHs e 15 HE BHSBJICHO
PyansiHcbke 65 18 0,3 10C3+bn 86 0,70 I 25 32 380 4e - - 15 -
PyausaHceke 65 20 1,6 10C3+bn 52 0,75 1A 22 22 340 4e PN - 15 =
PyausiHCbKE 92 64 2,5 10C3 51 0,75 1A 21 20 320 4e Bt B 15 <

JlHinpoBchke 10 21 6.4 10C3 82 0,70 i 23 28 340 4e Bt B 43 =
Juinposceke 19 13 1,9 10C3+bn 87 0,60 I 25 32 330 4e “ - 40 -
Jlninposcobke 19 15 1.5 10C3 76 0,65 I 23 28 320 4e - Bt 41 <
JIHinpoBceKe 22 3 32 10C3+bn 71 0,70 1 24 28 360 4e B B 45 ‘o
IHinpoBebke 22 17 1,6 10Cs+bn 87 0,60 I 27 36 360 4e - -« 45 £
Jninposceke 22 26 1,2 9C31bn+Bny 85 0,87 [ 25 30 440 4e - o 40 ‘o
Jlninposceke 24 2 55 9C3(106)1C3(86)+bn 106 0,60 1 25 36 310 4e < - 45 -
Jininposchbke 27 21 2,0 10C3+5n 87 0,60 1 25 28 330 4e K ‘- 40 “
JlHinposcbke 27 23 1,6 10C3 66 0,70 1 24 24 360 4e “ “a 40 =
JlHinpoBchke 33 5 2.5 10C3 87 0,65 11 24 28 330 4e -« e 40 -
Jlninposceke 35 22 2,0 10C3+Bn+'3+0c¢ 86 0,55 1A 29 32 360 4e B e 40 “
Jlninposcebke 47 12 2.6 10C3+bn 66 0,60 1A 25 28 330 4e B = 45 &
Ilninposceke 47 16 4,1 10C3+bn 96 0,60 1 27 32 360 4e < - 40 <
Jininposceke 47 21 03 10C3+bu+l3 86 0,60 1A 29 36 390 4e e - 42 ‘o
Jlninposcoke 48 5 0,6 10C3 72 0,65 I 23 24 320 4e “ =S 41 =
Jlninposceke 48 10 1,0 10Cs3 91 0,55 It 25 30 300 e “a B 40 =
Jlninposceke 48 11 0,8 10C3 91 0,60 I 26 32 340 de o . 40 -
JlHinpoBceke 48 12 1,1 10Cs3 91 0,60 1 27 32 360 4e = . 40 Eas
JlninpoBcobke 48 19 2.4 10Cs3 92 0,60 1 25 28 330 4e - e 40 B
IHinposcoke 49 15 0,9 10Cs 81 0,60 i 23 28 290 4e “u = 40 =
JlHinpoBcebke 52 9 4,6 10C3+bn+]I3 87 0,70 I 27 36 420 de K - 40 -
Juinposcbke 56 20 34 10C3+Bn 63 0,60 1 22 22 270 4e - = 40 B
JIHimpoBChKE 57 7 3,7 10C3+/13 66 0,65 I 24 26 330 e < = 40 =
JlHinposcbke 57 29 2,2 10C3 63 0,70 I 22 24 320 4e = e 45 -
JHinpoBcbke 59 15 74 10C3+3+bn+3 86 0,65 I 29 36 430 4e = “a 45 =
JIHinpoBceke 60 25 2.5 10C3+3+bn 74 0,70 I 24 26 360 4e -« e 45 .
Jluinposcske 64 6 1,1 8C32bn+/13 86 0,55 I 28 36 290 4e = = 44 -
IHinpoBcbke 64 10 2,0 10C3+br+J{3+13 86 0,60 I 28 32 380 4e - e 45 -
Jlninposceke 64 22 2,5 10C3+bn 78 0,60 1 26 28 340 4e B e 40 a
JHinposcbke 67 7 4.1 10C3+Bn+/13 82 0,60 1 25 32 320 4de = B 40 B
Juinposceke 67 17 1,1 10C3+bn 82 0,59 1 25 32 320 4e “ - 40 -
JIHInpoBChke 68 15 3,5 8C32bn 43 0,80 1A 20 22 290 4e Bt - 40 =
JIuTBHHIBCHKE 7 9 1,6 9C31 13 112 0,55 I 29 44 340 2e =« B 30 =
JluTBUHIBCEKE 13 5 1,0 9C31Bau+/3 106 0,60 I 29 40 390 2e -« - 35 PRt




1 2 3 4 S 6 7 8 9 10 11 12 13 14 15 16 17
JIuTBHHIBCLKE 18 [ 1,0 - - - 9C313+bn 120 0,50 1 30 40 340 2e caHiTapHe Binmupanns
JluTBHHiBCHKE 26 24 L1 - - - 5C3513 1 121 | 070 I 29 40 380 2e pybamns | 'f;’;"“"
JlutBrHIBCHKE 29 4 14,0 - - - 10C3x 61 0,80 1A 25 28 430 2e BHOIpKOBE | Koperesa ry6xa
JIuTBHHIBCBLKE 30 15 6,8 - - - 10C3 61 0,90 IA 25 28 490 e e BinMupanus T2

BCHXAHHSA IePEB
BChOro 523,7 - - 7
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